©

(C—

(BB (178

& & | s%ESH<LIRFE BERHT )
54 7 | vyUyy-3tARLA
& % | H1600

B 2520 (B

KFTHO5290#* 1

(9

&

g IBE

Ji%g

DHBE (1/8)

g ég,/JZD
—@

2320
52 1103 10 1103 52
MRS AZLOBRE 6mm BEEAZLOBE 6mm
aﬂg @HB >\|:|%B
(@») 1] 4
[v@]
N~
®
@:l
O @ (-] (-] 8
§ C\l‘:‘ ° ° LQ 8
«©
(@)
[0 @)
N~
EF - %K
. ) I Y o=
| \ \ || \ |
H b @N b b f
3 o 2| g
ﬁ_
" N =
(@)
O L
N~
HUE 1720
0500 B0
) BBOKZSISETRTT,
33 AR b M8x 20 4.618% Bz > &
34 HAZE t3.2 SGH B> & +HHETHINER
35 et & b M8x 115 4 618% AREsH > &
36 | wEH - BEEA t1.2 SGHC B & +HHISHINER
37| PHYEHxcy T t1.0 PVC -

NERFFA (1710)

0) BRARIHBOLYD. FELRKEBTH LAHYET,
BREE: V)Y S5, BhFREBVET,
y)y 45— (EH0Oy 78) LAY Y - X% CBALSE RO,
(Ny 7€y 64mm. BEES0Omm)
TEOBAE. BRI I-Y VY F-%ZBALLE IO,

B% LR ES B % (mm) i g i z

1 RAE 0100x50x12.3 STKR400 HERKREE (THEHD- )
2 Ali%ey T t1.6 SGH BERKREE (ThEH®- %)
3 PEH (BAD 50x 120 AB0B3S BEREEARE

4 PR GEAD 50x 120 AB0B3S BERECEORE

5 FEMR (24D 50x 120 AB063S BRECEARE

6 Mg i 25x 60 AB063S BEBCEARE

7 H< LER t3.0 7 IRERBRAR -

8 K- F - I+~ -

9 e - t2 A1100P 2%

10 Rivy 7 ¢ 16/ F40Y -

11 vy §-§t LAVY) =X - %Moy 78

12 SEMTL - b t2 A7V LA -

13 SERMTL -+ t2 ATV LA -

14 PPEY t6 SPHC HERRZE (TaERD- X
15 kyy t6 SPHC BERKEE (ThEH®-> )
16 by IiE $12 SGD BB &

17 gy 4x 20 A7V LA -

18 Eg 12 &3 -

19 RUESE 12.3. t3.2 SGH HERRZE (THERD- X
20 iR t2 ATV LA -

21 FUBRIL S - 1.5 ATV LA -

22 L $12 A7V LA -

23 Py t1.5 A6063S. EPDM -

24 B R b M10x 90 4.618% BRI &

25 4 IhxY M5x 10 ATV LA -

26 " M4x 10 ATV LA -

27 FIANRY M5x 10 A7V LA -

28 " M4x 10 ATV LA -

29 SYNLT 316 PVC -

30 F7A by - H52 VIS4 NHAG -

31 EIYYRABE t13.5 SPHC HENGEEE (THEHD- %)
32 B Uit - Bardn -




